Christmas Campaign 2024





INDEX

Packs

04	Little Box
06	Accordion Folio
08	Pack I - 5 Analog Folios
10	Pack II - 5 Analog Books
12	Pack III - 5x Memory Box
14	Pack IV - 1 Poster + 2 Photos
16	Pack V - 1 Canva + 2 Photos
18	Pack VI - 10 Recordatoriums
20	Pack VII - 3 Minibooks 18x18cm + 4 Mini Books 10x10cm
22	Pack VIII - 10 Mini Books 10x10cm
24	Pack IX - 1 Portrait Box + 10 Prints + Print Stand
26	Pack X - 1 Photo Book + 1 Photo Box
28	Mini Book Box
30	Proof Box
32	Matted Folio
34	Simple Folio

KOY LAB 2024

CHRISTMAS CAMPAIGN 2024

Campaign running from 15/09/2024 to 30/01/2025.

Personalised sample

PRODUCTION TIME 12 BUSINESS DAYS

Please beware that all sample products will include "Sample. Not for resale" either on the front or back cover. Order now and enjoy a 25% discount on all sample products

Christmas Products

PRODUCTION TIME 8 BUSINESS DAYS

All other orders must be placed in a separate shopping cart in your personal account and will have our standard production times. By placing Christmas orders together with other orders outside this campaign in the same shopping cart, will result in longer production times.



LITTLE BOX

Offer: Christmas laser etching and customer logo laser etching

Little Box Dimensions	Price Unit	Price Pack
Square		
1 Little Box 10x10cm	\$39.90	-
5 Little Box 10x10cm	\$37.91	\$189.53
10 Little Box 10x10cm	\$35.91	\$359.10
15 Little Box 10x10cm	\$33.92	\$508.73
20 Little Box 10x10cm	\$31.92	\$638.40
25 Little Box 10x10cm	\$29.93	\$748.13
30 Little Box 10x10cm	\$27.93	\$837.90
Horizontal		
1 Little Box 10x15cm	\$39.90	-
5 Little Box 10x15cm	\$37.91	\$189.53
10 Little Box 10x15cm	\$35.91	\$359.10
15 Little Box 10x15cm	\$33.92	\$508.73
20 Little Box 10x15cm	\$31.92	\$638.40
25 Little Box 10x15cm	\$29.93	\$748.13
30 Little Box 10x15cm	\$27.93	\$837.90

Shipping Worldwide

Shipping and taxes not included

LITTLE BOX

Offer: Christmas laser etching and customer logo laser etching

Little Box

- Available in 2 Formats: 10x10cm and 10x15cm
- With Fabrik cover material
- With or without laser etching
- Exterior/Interior ribbon: available in 15 colors

Material

Exterior/Interior: Fabrik Material Collection

Other Options

Exterior/Interior ribbon: available in 15 colors
Sandisk USB 16GB + \$19.25
Christmas laser etching FREE
Customer logo laser etching FREE



ACCORDION FOLIO

Offer: Christmas laser etching

Little Box Dimensions	Price Unit	Price Pack
Square		
1 Accordion Folio 10x10cm	\$26.46	-
5 Accordion Folio 10x10cm	\$21.17	\$105.84
10 Accordion Folio 10x10cm	\$18.52	\$185.22
15 Accordion Folio 10x10cm	\$17.64	\$264.60
20 Accordion Folio 10x10cm	\$17.20	\$343.98
Horizontal		
1 Accordion Folio 10x15cm	\$28.35	-
5 Accordion Folio 10x15cm	\$22.68	\$113.40
10 Accordion Folio 10x15cm	\$19.85	\$198.45
15 Accordion Folio 10x15cm	\$18.90	\$283.50
20 Accordion Folio 10x15cm	\$18.43	\$368.55

Shipping Worldwide

Shipping and taxes not included

ACCORDION FOLIO

Offer: Christmas laser etching

Accordion Folio

- Available in 2 formats: 10x10cm and 10x15 cm
- With Fabrik or Royal cover material
- Photos in lustre paper
- With or without laser engraving
- Print cardboard mount

Cover

Fabrik or Rayal Material Collection with laser etching
FREE
Fabrik or Royal Material Collection without laser etching

Prints

Lustre

Other Options

Print cardboard mount

Orders of and above \$250: free shipping | Orders below \$250: fixed shipping fee of \$60 | Non-US Export tax: Additional cost of 35\$ for shipping up to 20 kg or total orders amount above 75\$



PACK I

5 Analog Folio

Analog Folio Price Photo Price Dimensions Dimensions Set of 5 1 Unit Vertical / Horizontal 15x20cm | 6x8in 10x15cm \$114.06 \$26.61 20x25cm | 8x10in 15x20cm \$195.33 \$46.13

Shipping Worldwide

Shipping and taxes not included

PACK I 5 Analog Folios

Analog Folio

Ready to use - Analog Folio: frame applied with a top opening that allows images to be placed directly without any collage or specific fitting. It's the perfect solution for your studio!

- Available in 2 Formats: 15x20 and 20x25cm
- 3 Cover options: Photographic wrap cover or Nubuk or Fabrik Material Collection
- Mat: White

Cover

Nubuk / Fabik Material Collection Nubuk / Fabik Material Collection with laser Printed with glossy or mate lamination

Mat

White \circ

Other Options

Exclusive Christmas laser etching

FREE

 ${\tt TURNAROUND\ TIME:\ 8\ BUSINESS\ DAYS\ /\ DEMO\ DISCOUNT\ AVAILABLE}$

Orders of and above \$250: free shipping | Orders below \$250: fixed shipping fee of \$60 | Non-US Export tax: Additional cost of 35\$ for shipping up to 20 kg or total orders amount above 75\$



PACK II

5 Analog Books

Book Folio Dimensions	5 spreads 10 pages	10 spreads 20 pages	15 spreads 30 pages	20 spreads 40 pages
Square 25x25cm 10x10in	\$221.79	\$243.05	\$264.32	\$285.58
Vertical / Horizontal 20x25cm 8x10in 25x30cm 10x12in	\$221.79 \$221.79	\$243.05 \$243.05	\$264.32 \$264.32	\$285.58 \$285.58
	4-2. <i>y</i>	V 2.10100	V20 1102	
Aditional Book All dimensions	\$52.28	\$57.39	\$62.49	\$67.59

Shipping Worldwide

Shipping and taxes not included

PACK II 5 Analog Books

Analog Book

Our Analog Book can be used for studio sessions, allowing the delivery of a book with photos printed and pasted right away, never forgetting quality and tailored standards!

- No layout necessary
- Easy to personalise
- Ready to use
- Perfect for loose prints
- Available in three formats: 25x30, 30x25 and 25x25cm
- Can have 5, 10, 15 or 20 spreads (white 240gr cardboard)
- Three cover models: Standard, with laser or photographic paper with lamination glossy or mate
- Cover material: Fabrik or Nubuk Collection
- With white or black self-adesive photo corners

Cover

Nubuk / Fabik Material Collection Nubuk / Fabik Material Collection with laser Printed with glossy or mate lamination

Other Options

Self-adesive photo corners (252 Units) ← + \$23.13 Exclusive Christmas laser etching





PACK III

5 Memory Box

Memory BoxPricePriceDimensionsSet of 51 unit

Vertical

15x20cm | 6x8in \$196.86 \$46.33

Shipping Worldwide

Shipping and taxes not included

PACK III 5 Memory Box

Memory Box

Memories box can be used by those who print studio, wedding, christenings, Christmas sessions or even as guests gifts. It's a versatile product which allows you to add more prints in future sessions, using always the same box.

- Available in 15x20cm
- 3 cover options: Photographic wrap cover or Nubuk or Fabrik Material Collection
- Custom lid and base

Cover

Photographic wrap cover with textured lamination Nubuk or Fabrik Material Collection

Interior

Customized interior if chosen photographic cover Nubuk Material Collection Fabrik Material Collection

Cover Material

Nubuk or Fabrik Material Collection
Nubuk or Fabrik Material Collection with debossing
Nubuk or Fabrik Material Collection with laser
FREE



PACK IV

1 Poster + 2 Photos

Poster Dimensions	Photos Dimensions	Price Unit
Vertical / Horizontal		
30x40 / 40x30cm 12x16in / 16x12in	set of 2 – 20x25cm	\$4.64
40x50 / 50x40cm 16x20in /20x16in	set of 2 – 20x25cm	\$6.65

Shipping Worldwide Shipping and taxes not included

PACK IV 1 Poster + 2 Photos

Poster

- Available in 2 formats: 30x40 and 40x50cm
- Poster and Photos in Lustre photo paper

Poster Paper

Lustre Photo Paper

Photos Paper

Lustre Photo Paper





1 Canva + 2 Photos

Canva Dimensions	Stretch Bars Dimensions	Canva Finishing	Print Dimensions	Price Pack
Vertical / Horizontal 50x70 / 70x50cm 20x28in / 28x20in	2 cm	Glossy	set of 2 15x20cm / 6x8in	\$87.87
50x70 / 70x50cm 20x28in / 28x20in	2 cm	Matte	set of 2 20x25cm / 8x10in	\$114.01

Shipping Worldwide Shipping and taxes not included

PACK V 1 Canva + 2 Photos

Canvas

- Available in 50x70cm
- Canvas printed in Glossy or Matte paper
- With 2cm stretch bars
- Photos 15x20 in lustre paper

Canva Paper

Glossy Photo Paper Mate Photo Paper

Canva Bars

2cm stretch bars

Lustre Photo Paper



PACK VI

In each set of 10 Recordatoriums, get 2 for free

Recordatoriums Dimensions	Price Set of 10	Price 1 unit
Square		
10x10cm 4x4in	\$30.24	\$3.78
15x15cm 6x6in	\$44.36	\$5.67
Vertical / Horizontal		
10x15cm 4x6in	\$30.24	\$3.78
15x10cm 6x4in	\$37.84	\$4.73
20x10cm 8x4in	\$37.84	\$4.73

Shipping Worldwide

Shipping and taxes not included

PACK VI 10 Recordatoriums

Recordatoriums

- Available in : 10x10, 10x15, 15x10, 15x15 and 20x10cm
- Photographic paper: lustre and silk
- Cardboarded photos with one crease

Photographic Paper

Silk Paper Lustre Paper



PACK VII

3 Mini Books 18x18cm, offer of 1 unit + 4 Mini Books 10x10cm

Mini BookMini Book5 spreadsDimensionsDimensions10 pages

Square Square

Shipping Worldwide

Shipping and taxes not included

PACK VII

3 Minibooks 18x18cm + 4 Mini Books 10x10cm

Mini Book

- Sizes 18x18 and 10x10 will contain the same files
- Photographic paper: Lustre
- Cover: Lustre photographic paper with glossy lamination
- Contains 5 flush mounted spread

Cover

Printed with glossy lamination

Photographic Paper

Lustre



PACK VIII

In each set of 10 Mini Books, get 2 for free

Mini Book5 spreadsDimensions10 pages

Square

10x10cm Set of 10 \$100.80

Shipping Worldwide

Shipping and taxes not included

PACK VIII
10 Mini Books 10x10 cm

Mini Book

- Photographic paper: Lustre
- Cover: Lustre photographic paper with glossy lamination
- Contains 5 flush mounted spread

Cover

Printed with glossy lamination

Photographic Paper

Lustre



PACK IX

1 Portrait Box + 10 Prints + Free Print Stand

Portrait Box Dimensions	Price Box + 10 Prints	Price Additional Print
Square		
25x25cm 10x10in	\$144.90	\$6.30
Vertical / Horizontal		
13x18cm 5x7in	\$120.75	\$6.30
20x30cm 8x12in	\$144.90	\$6.30
30x20cm 12x8in	\$144.90	\$6.30

Shipping Worldwide

Shipping and taxes not included

PACK IX

1 Portrait Box +

10 Prints +

Print Stand

Print Stand

• Acrylic Print Stand, size 9x9cm

Portrait Box

- Available in 4 formats
- Box cover styles: Photographic wrap cover, Nubuk or Fabrik coverage
- Lining: black or white fabric
- Optional debossing: Standard text, Gold, Silver or Color foil text

Prints

- Prints' mount material: hard cardboard
- Minimum: 10 prints | Maximum: 20 prints

Box Cover

Nubuk Material Collection
Fabrik Material Collection with debossing
Fabrik Material Collection with debossing
FREE
Nubuk Material Collection with laser
Fabrik Material Collection with laser
FREE
Photographic wrap cover with textured lamination

Prints Paper

Lustre

Lustre with uv varnish FREE
Glossy with velvet finish FREE

Accessories

Acrylic print stand 9x9cm FREE

Print's Backs

Cardboard Customized + \$24.15

TURNAROUND TIME: 8 BUSINESS DAYS / DEMO DISCOUNT AVAILABLE



PACK X

1 Photo Book + 1 Photo Box

Book / Box Dimensions	5 spreads 10 pages	10 spreads 20 pages	15 spreads 30 pages	20 spreads 40 pages	25 spreads 50 pages	30 spreads 60 pages	35 spreads 70 pages	40 spreads 80 pages
Square				·				
15x15cm 6x6in	\$94.50	\$100.80	\$113.40	\$132.30	\$151.20	\$170.10	\$189.00	\$207.90
20X20cm 8x8in	\$113.40	\$122.85	\$141.75	\$170.10	\$198.45	\$226.80	\$255.15	\$283.50
25x25cm 10x10in	\$122.85	\$132.30	\$151.20	\$179.55	\$207.90	\$236.25	\$264.60	\$292.95
30x30cm 12x12in	\$151.20	\$166.95	\$198.45	\$245.70	\$292.95	\$340.20	\$387.45	\$434.70
Vertical / Horizontal 15x20 / 20x15cm 6x8 8x6in	\$103.95	\$113.40	\$132.30	\$160.65	\$189.00	\$217.35	\$245.70	\$274.05
20x25 / 25x20cm 8x10 10x8in	\$113.40	\$122.85	\$141.75	\$170.10	\$198.45	\$226.80	\$255.15	\$283.50
20x30 / 30x20cm 8x12 12x8in	\$122.85	\$132.30	\$151.20	\$179.55	\$207.90	\$236.25	\$264.60	\$292.95
25x30 / 30x25cm 10x12 12x10in	\$141.75	\$151.20	\$170.10	\$198.45	\$226.80	\$255.15	\$283.50	\$311.85

Shipping Worldwide

Shipping and taxes not included

PACK X
1 Photo Book + 1 Photo Box

Photo Book

- Available in 12 formats
- May contain up to 40 spreads
- Hardcover material: photographic paper
- Available cover laminations: Matte and Glossy

Photographic Paper

Silk Paper Lustre Paper

Box Cover

Printed with textured lamination

Other Options

Christmas themes design
Lining - Cardboard
Box Frame - Wood



Box Interior - Velvet ◆○

Book Cover

Printed with glossy or matte lamination

TURNAROUND TIME: 8 BUSINESS DAYS / DEMO DISCOUNT AVAILABLE

Orders of and above \$250: free shipping | Orders below \$250: fixed shipping fee of \$60 | Non-US Export tax: Additional cost of 35\$ for shipping up to 20 kg or total orders amount above 75\$



MINI BOOK BOX

Offer: Christmas laser etching

Mini Book Box **Box Height** Dimensions Box + 1 Mini Book

Vertical / Horizontal

\$72.45 10x10cm | 4x4in 3,5cm

Shipping Worldwide

Shipping and taxes not included

MINI BOOK BOX Offer: Christmas laser etching

Book Box

- Cover: Fabrik collection, FK-610
- Ribbon: Brown satin ribbon, S03
- Includes one Mini Book 10x10 with 5 spreads
- Holds a USB stick support

Mini Book

- 1 Mini Books 10x10cm
- Photographic paper: Lustre
- Cover: Lustre photographic paper with glossy lamination
- Contains 5 flush mounted spreads
- Exclusive Christmas themes

Mini Book Paper

Lustre

Material

Box interior/exterior - Fabrik Material Collection (ref. 610)

Other Options

Beige satin ribbon (ref. S03) Sandisk USB 16GB + \$19.26 Exclusive Christmas laser etching



TURNAROUND TIME: 8 BUSINESS DAYS / DEMO DISCOUNT AVAILABLE



PROOF BOX

Offer: Christmas laser etching

Proof Box Box Height Price Price Dimensions until 100 prints until 200 prints Box + 30 Prints Additional Print

Vertical / Horizontal

10x15 / 15x10cm \$0.42 \$72.45 5,5cm 8cm 4x6in / 6x4in

Shipping Worldwide

Shipping and taxes not included

PROOF BOX Offer: Christmas laser etching

Proof Box

- Cover: Fabrik collection, FK-647
- Ribbon: Brown satin ribbon, S03
- Stores up to 200 loose photographic prints
- Holds a USB stick support

Prints

- 30 prints included
- Format 10x15cm
- · Lustre photo paper

Prints Paper

Lustre

Material

30

Box interior/exterior - Fabrik Material Collection (ref. 610)

Other Options

Beige satin ribbon (ref. S03) Sandisk USB 16GB + \$19.26 Exclusive Christmas laser etching



TURNAROUND TIME: 8 BUSINESS DAYS / DEMO DISCOUNT AVAILABLE

Orders of and above \$250: free shipping | Orders below \$250: fixed shipping fee of \$60 | Non-US Export tax: Additional cost of 35\$ for shipping up to 20 kg or total orders amount above 75\$

CHRISTMAS CATALOGUE - KOY LAB



MATTED FOLIO

Offer: Christmas laser etching

Matted FolioPriceDimensionsUnit

Vertical / Horizontal

10x15cm 4x6in	\$34.02
15x20cm 6x8in	\$49.14

Shipping Worldwide

Shipping and taxes not included

MATTED FOLIO

Matted Folio

- Available in 2 formats: 15x20cm and 20x25cm
- With Fabrik cover material
- Contains two photos in lustre paper
- With or without laser engraving
- With photo mat
- Photo mat available in five colours: White, beige, black, pink and blue

Cover

Fabrik Material Collection with laser etching
Fabrik Material Collection without laser etching

Prints

Lustre

Other Options

Mat colors Colo



SIMPLE FOLIO

Offer: Christmas laser etching

Simple Folio Dimensions

Square

15x15cm | 6x6in

Vertical / Horizontal

10x15cm | 4x6in

15x20cm | 6x8in

Price
Unite

Shipping Worldwide

Shipping and taxes not included

SIMPLE FOLIO

Simple Folio

- Available in 3 formats: 10x15cm, 15x15cm and 15x20cm
- With Fabrik cover material
- Contains two photos in lustre paper
- With or without laser engraving

Cover

Fabrik Material Collection with laser etching
Fabrik Material Collection without laser etching

Prints

Lustre

Other Options

Print cardboard mount O

Address

Koy Lab - Album Tailoring Rua do Caires 300 4700-207 Braga Portugal

Working hours

Monday to Friday 09am to 6pm (GMT)

Contacts

info@koylab.com koylab.com



Prices valid from 15/09/2024 to 30/01/2025.

All prices and mentioned characteristics may be altered without previous notice. The actual size of the products shall be read in centimeters. Prices exclude all applicable legal taxes and shipping:

